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1)

2)

3)

4)

5)

Limit pricing isan entry condition in the theory of firm by

(A) JSBan (B) Cournot

(C) Chamberlin (D) W.J.Boumole

WHONY ATROTTY w3 KUY INOTRFNTON THeT [IT 20w
TETOOATVRYTD

(A) Bz, 3T (B) soToeF

(C) BeowT AT (D) @ey . ePBpees

If two goods are bad substitutes, the elasticity of substitutionis

(A) Verylow (B) Veryhigh

(C) Infinity (D) Zero

DT ATRND 33 TEATOINERTON BT %@m@ﬁ%i@
(A) 2o TRID (B) oww T

(C) &30 (D) g

Which of the following is not afeature of monopolistic competition?

(A) Excess capacity (B) Advertising costs

(C) Product variation (D) Absence of the supply curve
83 FENTPYNYY 03T MOETENR) AROINT B[HTVFELIOD ©BETY?
(A) ©0F FE (B) w&cood &

(C) w=tme =z (D) mpTEod Besd aQRTd0s

Product differentiation and selling cost are the distinctive features of

(A) Perfect competition (B) Monopolistic competition

(C) Monopoly (D) None of the above

SR BPZ DI [P0 WPy CIPTW T[RWTLON DOTF OFEONTONTI?
(A) TozTspear ﬁémew (B) Y030 ﬁémw

(C) D=z (D) o3 Xyce ©Q

The Economist who stressed the role of entrepreneur in development was

(A) Hirschman (B) Nurkse

(C) Schumpeter (D) Arthur Lewis
@m@@pomgg mcséméwéoja TPTBI, W TP @qﬁ;mi@
(A) &TWENT (B) =F

(®) 0NEIT (D) e3e0° SO
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6) The optimum output of afirm under perfect competition would be at
(A) Theincreasing part of the average cost curve
(B) The minimum point of average cost curve
(C) The decreasing part of average cost curve
(D) The decreasing part of marginal cost curve
TOTREOF FyTRIODY STSF LTI, AT WO
(A) =oRRO &8 Beadod TeHITOI! N
(B) moomO [e3 Teadod B IO
(C) =oem0 £$yE Sesdodd 3RFAIPRIST LN
(D) &ewmmoz K525 Seadodd 3RDOIRMITT o

7)  Thenumber of orangesthat anindividual iswilling to give up for one more apple
isreferred to asthe
(A) Tota utility of oranges
(B) Law of diminishingmargina utility
(C) Margina rate of substitution of applesfor oranges
(D) Margina rate of substitution of orangesfor apples
2,000 B[O Aeed TN TN [RBLY WONRB 3¢ TEIS BOBFODY, 83
0e30R TeFWTOTD
(A) 339 BT b)) 2D
(B) 9020 26208 Bides DO
(C) 339 medron Reedzeds vewswooz Wdd ©T
(D) Reenzmeds 839 TeI3 2exmPOZ BIF 3T

8) Marshallian concept of elasticity of demand isknown as
(A) Priceédasticity of demand
(B) Income elasticity of demand
(C) Substitution elasticity of demand
(D) Crossélasticity of demand
TR LeBFOD %@m@ﬁ%éoﬁn TOBOTODT, &R0 SYODWTITD
(A) 288 s35003 LeRFOD %@m@ﬁ%é
(B) <000 ©5003 PeRF0d %@m@ﬁ%é
(C) B30T B0 WeRFOD %@m@ﬁ%é
(D) e¢lemsz 23eRBOD %@m@ﬁ%é
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9) Thedownward slope of indifference curve indicates that
(A) Consumer can have more of both goods
(B) Consumer can have only less of both goods
(C) Consumer cannot have more of both goods
(D) Consumer has less income to buy both goods
QYN BB, Tea3odw BRI
(A) ©RENOIN HTBEHL SWRATH, TLT TRWRTY YOTRARENTLIBIID
(B) ©eleenodd 0B SWATI, 30D TmPenY G0BOdeeNTLITOW
(C) ©DreNodD HTBEH JAWNTI, T, YWICIRENTLY TPNY
(D) ©=0e3eeNodn TR RN, OO R STWODT, BLHOOTTV

10) The concept of “Reserve Army” isfound in

(A) Classicd anadysis (B) Hicksananalysis
(C) Schumpeteriananaysis (D) Marxiananalysis
0T TR TOTOZ FPRTBOY AT?

(A) TROTE@OWE QLFeRES (B) %80T DFeRT
(C) 3002E3000T QLJewes (D) SRgrodT DR

11) Macroeconomics deals with
(A) The behavior of firms
(B) Adctivitiesof individual units
(C) Aggregatesand averages
(D) The performance of anindustrial plant
B3 FYNT 3TV QRODATID, AN @@Fmg@ WERPORTY
(A) TBINY TIES
(B) Sz wvzons Twne wWemuin
(C) =R Bonsh &I FTHIONLD
(D) 928 Hess TODF TG

12) The three approachesto measure national income are
(A) Cost, income and flow of funds approaches
(B) Product, income and expenditure approaches
(C) Consumer, business and government approaches
(D) Public, private and community approaches
mweoda STOONTJI), TRTT [IWE TR LFITRLOTI
(A) 3303, STIVOD m@b QONG TONT DPOI

(B) W:ﬁy STIOOD DB WYY DO
(C) onheen BRTOT DB ATFTT DEOINED
(D) moBFeds, 003N I TOBNTONT DTOINW
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13)

14)

15)

One of the reason for demand pull inflation is

(A) increasein cost of production

(B) increaseintherate of taxes

(C) riseinthepricesof raw materias

(D) increasein money supply

83 FIINIZNYY CpPYD Be@d F93 FHEOTVL)TT FOTEDTONTI?
(A) BT BERYS 203

(B) gort ©omYR Bige

(C) 6?,3% TOTNNE BSNEYT éa;j%f

(D) Beow BRGFCHOS By

Monetary policy isformulated and implemented by

(A) International Monetary Authority

(B) Central Monetary Authority

(C) FinanceMinistry

(D) European Monetary Union

33 FIPNT O3 TEOTORD QeSODTY, Tedk @mmosﬂm@magé?
(A) @03@%6053 TEOTORY Y

(B) 3eofeod TeomoRd ToHTOT

(C) TR FedewoD

(D) cdndeeas TETORD WwERLS

Public expenditureisa part of

(A) Monetary policy

(B) Fiscal policy

(C) Foreignexchangepolicy

(D) Disinvestment policy

TOVEBIT DYF) % IENT 03T JeS0D TWND WOTONTI?
(A) TR e

(B) oowm 33 ded

(C) DTed DATDOD Jed

(D) mnp&d HozB= Jed
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16) Margina propensity to consume is expressed as
(A) fractiona changein consumption because of afractional changeinincome
(B) total change in consumption because of atotal changeinincome
(C) rigidity of consumption inthelong run
(D) margina change in consumption because of change in cost of production
33 FYNT O3 TEPIOIN AETIOZ WILIREN T3 G0N, DVORTTI?
(A) STCHTYS ACTIOZ WTLRTFCR0TN WDRRENTIT AeTIWOZ WTUTED
(B) STRODTYR 2t WHLRTFONOWIN WRVERNTIYNIT 2ot LTI
(C) QeporRRORNIT WVPRNAT K@
(D) ov2oms SEneRpmdes LIBORmRN0n WRERNEURIDE AeBHOZ BRI

17) According to Keynesinvestment is determined by
(A) thevariable cost and fixed cost
(B) therateof interest and marginal efficiency of capita
(C) the discounting technique and payback period
(D) therateof interest + rate of inflation
36T 0mT FFoO TRRECH JTRF TR 03R)?
(A) SzomeEs B A3 3%
(B) 28 TT =T wOoRmRT AeBWOT BT
(C) Arer 308 #) FO TWTAECD TR
(D) 28 T8 + metde)Ts T

18) Keynesian Economicsdealswith
(A) longterm phenomena
(B) short term phenomena
(C) very long period phenomena
(D) dynamic exposition of the phenomena
%eafpwd @qﬁrmg@ — 38 3SNT 030w 0edod sacsémsmma &@3@37\23‘?
(A) QesFoFrmhod LBEPINW
(B) @wnzfod QBIPIND
(C) @038 DesporBRHOD DTIPIND
(D) QBRRING BOBdeOZOD ACHTE
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19)

20)

21)

22)

23)

Given the function, y = a + bx, a represents:

(A) Constant (B) Parameter

(C) Slope (D) Intercept

33O WowE Y=a+ bxsQ, a o3 CRRTR, BRI
(A) ﬁ&moﬁ (B) moodnesT

(C) w9 (D) &iesz

If A={2,5,4,6,8 9} andB={5,6, 7,8, 10,11} thenAnBis
A={25, 4,6, 8, 9 B B= {5, 6,7, 8, 10, 11} n¥d TR NeONTRT3,
ANB o3

(A) {5,6,8} (B) {6, 7}
(© {89 (D) {4, 7,8}

The market demand and supply equationsfor aproduct are given by the equations
D =20-3pand S=-10+ 2p, respectively. The equilibrium price and quantity
ae

2,000 RTT [PIWTE 3eRT I DeR@S oTN TN D =20—3p D)
=—10+2p &SNS T2 B5S F TIIEAND

(A) P=4andQ=6 (B) P=5andQ=7
(C) P=6andQ=8 (D) P=6andQ=2

The second order condition for maximization for Y =f(x) is
Y =f(X) 20238 ROFEoD HTBES A2I0T[OI

(A) dy/dx =0 (B) d2y /d@>0

(C) d?y/d¢<0 (D) d?y /de=0

Given thefollowing data set, what isthe value of Median? (2,5, 3, 8, 9, 6, 12)
BRLT TT0TE PT35S SPPYID? (2,5,3,8,9, 6, 12)

(A) 55 (B) 6.5

(C) 5 (D) 6
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24)

25)

26)

27)

28)

Given total revenue function, R = 50g — 4¢?, the marginal revenue functionis:
BRETR BToH oWBHOW R =500 — 4 2eTIOZ STROD L0WTR)
(A) 50q - 4¢? (B) 50-8q

(C) 50 -4 (D) 50— 8cf

Suppose that the demand for a product is given by the functional relationship
Q =400 -2p. If thefirm wantsto sall 100 units, what price should it charge ?

2O BOBT 23eRT 20237y Q =400 —2p N3, 30TIC 100 TIBNTI,
WIVTVW TIVTBELD SeTIVFAAT. ToMBT 030x WASONY [Io00E TIVTWLER?

(A) Rs.10 (B) Rs.150
(C©) Rs.120 (D) Rs.100
India@sGDPtoday is  largestin theworld
PROBT BR2 YO PITY BRBTONT.
(A) 2 (B) 3

(C) 5 (D) 7

National Food Security Act was signed into law on

T2840D ©T9T FTTD TORHOD, FZRTN 20N ITTREWS
(A) January 26,2011

(B) August 15, 2012

(C) September 12, 2013

(D) October 2, 2015

The Start-up India scheme was launched by the Government of India, in January
ROEFE T QOROI® oimeaséodamel g008 XTor Tz HRTROONY TTORAZY

(A) 2014 (B) 2015
(C) 2016 (D) 2017
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29)

30)

31)

32)

Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGYS)
was introduced in

TOTY, TOY @%6033 MOgREEd GOTRLN 83030 AiReIoDT, (MGNREGS)
39 T[OWONIRONB

(A) 1% January 2006

(B) 2" February 2006

(C) 2" October 2006

(D) 15" August 2006

As per accepted recommendations of the Fifteenth Finance Commission, the
States’ share has been fixed at

(A) 32 percent of the net proceeds of shareable Central Taxes

(B) 41 percent of the net proceeds of shareable Central Taxes

(C) 42 percent of the net proceeds of shareable Central Taxes

(D) 45 percent of the net proceeds of shareable Central Taxes

BOZTIC BOTOR SOIRENT WONCTT SFPTRONY TFOT, ToNY T
— ANOTRIRNT

(A) Tow? BRTBWTTOT 0T, IONNY JTY STONT Jesw 32 TITT
(B) mowd SBWTHTOT $¢0T, B0MNY VY SwoodT Seswo 4l TITT
(C) mows =PBWOTDTOT 30T, B0MNY ITY SWooDT Jesw 42 TITT
(D) mows =PBOTDTOT 3607 BOMNY Y STODT Jesww 45 TSTZ

The poorest district of Karnatakais :

(A) Bengauruurban (B) Mandya
(C) Kalaburgi (D) Yadagiri
TIOF BT V0T WB VY —

(A) HBongwedd INT (B) =00z
(C) 3oeNFE (D) o3omnd

The contribution of Agriculture sector to the overall GSDP during 2021-22
was :

2021-228 @3p0dY etnd GSDP A 3o 3egm domnt —
(A) 14.10 (B) 19.80
(C) 21.10 (D) 23.15
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33) Karnatakaranksl1stin exports.

(A) Handicrafts products (B) Leather products
(C) Marine products (D) Softwareservice
FROF €335 SFNYY e MITHT.

(A) 3TNIO WIIJNEd (B) BRFT ZINAD
(C) mn3 LI ned (D) So=p03 XHewd

34) What isthe HDI rank of Karnataka among the states of Indiain 2022?
2022 TQ RTZT ToRNYY FIOFWBE ANFRD eed DTV
(A) 8 (B) 11
(C) 10 (D) 7

35) Economic Development denotes
(A) Only qualitative changes
(B) Social changes
(C) Both qualitative and quantitative change
(D) Only quantitative change
Slola @@5@@9 QOTTB
(A) 30 MOFOIF WIOWHNW
(B) =0T WTUORHNAK
(C) Ho=PEEgs Tone MFEs WETRIBRAW
(D) 30 TORPEIGS WHLOBES

36) Population increases at ageometrical ratio says

(A) Thompson (B) Dennison

(C) Notenstein (D) T.R.Mdthus

zssxosjéofm méé)g@eoja ONTOITY WSOV 20T @qﬁ;mga;m
(A) TROTTIS (B) @IFT

(C) [l (D) €.eo. Spex
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37)

38)

39)

40)

Karl Marx isidentified with

(A) Materidisticinterpretation of history

(B) Promotion of privateinvestment

(C) Socid investment

(D) Wedfarestate

TFERT F URORY, CSRRYTT R MNSTLRMITL 0T
(A) 30380 PET ATRTE

(B) 203N BRRE w0ZewT

(C) =o=0Rs BRBE

(D) =bsde ooz

PQLI means

(A) PrivateQuality of Lifelndex

(B) Public Quality of Lifelndex

(C) Physical Quality of Low Income
(D) Physical Quality of Lifelndex
PQLI «0T3

(A) 09BN eI MoeasdY B 03
(B) moweds 23emT mieasdy AR30T
(C) &P&B RBeB[IT BRED STWOD

(D) &P33 Bewss mdeosdey BPWOT

W.W. Rostow developed the so called

(A) Investment theory (B) Theory of stages

(C) Savingstheory (D) Publicfinancetheory

W.W. dedin SRSBRIT RTROZ O3RRTOTT

(A) cRB% ,%ngpos (B) @m@@p TOSNY %)cr%o:%
(C) vvozoed %)cr%oé (D) momFnT 0TI f’om@oé

Thefocus of A. Lewistheory of development is
(A) Utilization of surpluslabour

(B) Utilization of women |abour

(C) Utilization of natural resource

(D) Good governance

DT TV ATOIT &Y 1O

(A) SBIO ZDT WS

(B) w0 TT wed

(C) 3RNF? FOTIRVNY W8

(D) mz)ojb STES
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41)

42)

43)

Who explained the direct relationship between the level of development and
public expenditure?

(A) AdolphWagner (B) DavidRicardo

(C) W. W. Rostow (D) Adam Smith
@@5@% ey W) AR RAF dz;jﬁeé ST FeT BOWOFRI), TSTWOATRBI
o3RT?

(A) Sleniog WRNTT (B) Belw® oOvordwes
(C) W.W.3nrise (D) sworz

Who wrote the book “Principle of Public Finance’?

(A) A.C.Pigou (B) Richard A Musgrave
(C) Ddton (D) Bastable

“TOBERIT TEOTAT TR IINW” D0V NOTFHR, WITBI
(A) Q..M (B) 0w .. o0
(C) mox (D) ez

What isprimary deficit?
(A) Excessof total expenditure over total receipts

(B) Excessof revenue expenditure over revenue receipts

(C) Excess of total expenditure over total receipts less borrowing and interest
payments

(D) Excess of total expenditure over total receipts less borrowings
TRRPNT BRTE L0TTEN?

(A) 28 A3 3NYN0T BT 2.t SBNRW

(B) BOTROD AeFSMONOZ TS TOTWOD FLNRW

(C) (et da;smﬂo)— (2t AL EMO-TOONED ) WG TOWENW)
(D) (2082, SFLRTL)—(2082), AT SRDO-TOONWD)
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44)

45)

46)

47)

Theindirect tax enquiry committeeisalsoknownas
(A) R.J.Chellaiah committee

(B) Jhacommittee

(C) Mathur committee

(D) Wanchoo committee

T3REE 307 DOTFD FSODT, Soenw FTOINTT

(A) oo & Bgod, BN (B) S mens

(C) =TRTT Dws (D) @moowBe Zens

Which of the following is not a canon of public expenditure?

(A) Canon of sanction (B) Canon of economy
(C) Canonof smplicity (D) Canon of benefit
83 $INIY OSPJTD TOTFRIT BT IBY

(A) oDBeTI 23 (B) n3IodT G,
(C) moeE8ed 8 (D) edspwzed 8,

Specia Drawing Rightswere introduced by:
DI BRNT TTTY, TOWOWAT:

(A) USA (B) IMF
(C) RBI (D) IDBI

Termsof trade primarily measure:

(A) The amount of goods and services exchanged between two countries

(B) The balance of trade in monetary terms between two countries

(C) Theratio at which one country’s goods trade for another country’s goods
(D) The cost of transporting goods across international borders

WIITWOT FOOITL B4 SN O3RRTID, OYE TREIT?

(A) TR Te3ne IBAI TWIPTIB FTR DB AeBRE Tgoeo

(B) «3w Teane IBAT TOTY BT 0T S,

(C) 2,00 De3T FTHAD WEROT VST FTIBPODN VFTWTITE WVTDT
(D) @oédm@eoda NANG SBN IOBNY TN ﬁaéj

M-2321 [13] (P.T.0.)



48)

49)

50)

The primary purpose of a protective tariff isto:

(A) Raiserevenuefor the government

(B) Encourageinternational trade agreements

(C) Limit the consumption of imported goods

(D) Shield domestic industriesfrom foreign competition
T30 s AOTT TWHPINT LGOI ESFOTT:

(A) RFoFTE SwOOD TLRIYID

(B) @oém%eo\’n m—od LTOTNER, FRLTILAT)TD
(C) =3 BRas wmﬁ@ weééo:bm m@ﬂw@ﬁo@cﬁa
(D) 2Ted BTecwor Beoe0d %m@%ﬁ%ﬂm TR

A trade deficit occurs when:

(A) Exports exceed imports

(B) Imports exceed exports

(C) Thereisno difference between imports and exports
(D) Both imports and exports are zero

opkpie; 308 C3N BOLPIRTT:

(A) TR SRDTATT, 0edwen

(B) w=0md TqoAI, <oedmen

(C) =D ) LT TWP CIPPTE [IOINY

(D) & B T HTEL 303,

Reciprocal demand ininternational traderefersto:

(A) The exchange rate between two currencies

(B) Thewillingness of consumersto buy goods from foreign markets
(C) The demand for one country’s exports by another country

(D) The process between governments to establish trade agreements
@oémoéeofn TIRTRY TTTT 3eRIOID YT, WLeDRIT:

(A) T sdébmﬂ mfom Q’D?D:)aofn e}

(B) 233ed mdaségomod BoBRYT, V0O MOTTT 9,

(C) 20T BezT T DBROWD dezﬁ@ocs AREL

(D) =30 eBoTNRYI), m@&zm RBFONY IS TFOD

& B ¥
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10.
11.

12.

WPRENER BeWEIned

8.00.80°. VBT TP BR3R 50 TBIRIR, TBROOWT JRTL JIPRT T,
TORFED, DI QTSN
3RYTOB TF, TATH), VY TOFR ©0h), IPRILOBIT  DIWODE FOWOHATE
ROLVTI), TOHEDRT.
w23 wé%oja mada‘n lgtclovilelniiiciolovite) DB @)%wg%omozs 8.00.87°. QVZT
m@oﬁaa‘n IBRIN :%rﬁzsa 8.00.80°. QOZT TOYONY TP, [P IONI), 350850.
3L nraas‘éojaoé ey ITRTODYS DWINTI, BOLELD ébafje)mcjc'i, ame Sl
ToPOD TPOBPTI AONTY  YVOLRMIT  TOFOTNRASTK [0 Jesse
wplinplelenpiestNe)
TOEEOD FDOLTY:
d  TESOIROTD TIODI, PNRZWOT LOD.
b B& TBod IR QeRBNT Towy v SoYNYY wB08 FOIRH/ ARTFT

NZTIR, IGFOR.
C) %.00.857. TIORYT TOWORAT TI,0N = TYTOTHY, FOTREDF N BVOVD.
NTRTIBA, Y, BEFODY T3, B0, 83 “C" FOWRT LWITNTT, e /B Lo
TOOROET T W L.D0.8T°. YIT TOYOD T M0, 83 IN0T T8 FYNTOZ
30020:
=3, B0 8. ® @O O (NWnITH TR (LR TOWOLT T =T LVTIREN)
emédztﬁ wawﬁodéoja 2TZEIROD, (BB 307F) T3, BSFONY wBNAT A PRTY
m:%de mcézﬁeso (%.200.3T". eméd m@oﬁo@ mwmdm)
2,000 JNFHR TBR 0T3O ézﬁ; mgm;sm SFRNT T, BYOBT YWZTB/I),

3T, QO waﬁsémromgzs WP 0IPRYTE WOTIDW, ARBLOMOPOY. £0.00.83T°.
TOPORNDT YVTOTTTH e R.
VPHE ) 3RTR fme%md%do QOF FHRAT :;p%ﬂdeg 20.200.83T°, ToPOD e Do
TRTLER.
CTaleny waecﬁoﬁo J03BT BRTHE d)@@?ﬁmdsaﬁ R 8.00.85T°. VBT To¢ B
DIDTOAVONT TSONT, LODTONTLIER.
B HFOI T3, TFTR, B 8.00.8T°. VR HFOD TSI, T, B3 SNTDIRO
TRENLITOTR.
ST, BT DI WP FRET Y, TOCTY SRTROD ¥t WDTDSTRTDYHNL.
@asfbro:’m cﬁaa’%édeﬁ éracéﬁda@m %océmodd WOTH WPHFODI, BRCTENR
w@ﬁsé QTOK)@@@ T QOHINY TFos WOTH WHPHFCD LT § 5;33 %me:emm@m
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Note : English version of the instructions is printed on the front cover of this booklet.




